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SECTION A (40 marks)
Answer all questions in this section

3y (2xt])
[, Determine the value of X in the equation (25() x (). Iy) S 0

(4 marhy)

(<§ marky)

(4 marks)

2. Giventhattan 0 = 15 Find without using mathematical table or calculations the value
of sin 0.

3. From the same shop. Kato spent Shs. 3.500 to buy 2 books and 3 pens. Waswa spent
Shs. 5,300 1o buy 4 books and 3 pens. Determine the price of cach book and cach pen.

4. C

i

A

The figure shows a circle of radius T0em with centre at O. BC- 12em.
Find: (i) AC

(i)  £4BC
The mean of: k. 3, 4. 4k. 9. 5K is 6.

Determine:- (a) Value of' K.
(b) The median.

5
Solve the equation; x~ =15 - 2x.

The points A (2,0) and B (0. 2) are rotated through 90" to form A' and B'.

Determine the coordinates of A'and B'.

Using matrix method. solve the equations:
2x-y=35

3x+2y=4

In the figure below. ST= 8cm. QR = 12¢m and QS = Sem.
P Given that QR is parallel to ST. Find the length PS.
y !
Sen
12cm
Q R

1o

2
. _ 75.637 = 24377
10 Without using tables or caleulators. evaluate -

12.6

A7)
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(2 marks)
(2 marks)

(2 marks)
(2 marks)

(4 marks)

(+ marks)

(<h marks)

(- marks)

(4 marks)
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11. The table below shows marks obtained ina Geography test by 50 students of \
. S Yestby 50 s o asch
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SECTION B (60 marks)

Aprempt any five quostions fronthis section |l questions carry equal 4
cqual marks

\Wakiso District. vol in
33 45 09 52 724032 35 56 30
L0200 3L 000 294y s4 50 390 47
32 43 50 61 59 33 44 38 85 57

08 33 62 75 R/ 03 32 O 40 03

G4y 3% 42 5167 7T sy S5 7
(a) Constructa frequency table Tor the data above starting with 20 - 29, (7 marks)
(b) Usingaw orking mean ol .5 Caleulate the mean. (2 marks)
(¢) Drawa histogram and use it o estimate the modal mark., (3 marks)

The seats in a stadium are eraded as lirst second and third classes. The categories of people
who go to watch the matches are children and adulhs. h

One day, the stadium scats were filled as below:-

First class seats were oceupied by 1.500 children and 2,000 adults. second class seats were
occupied by 3.000 children and 2,300 aduls, while third class seats were filled by 300
children and 1.800 adults. 3

First class children and adults are charged Shs.2.000 and 2.500respectively. second clacs
children and adults are charged Shs.1.000 and Shs.1.500 respectively. while third class
children and adults are charged Shs.500 and Shs.1.000 respectively.

(@) Formalx3 matrix showing how the three classes of seats were filled by

(i) Children. (1 mark)

(ii) Adults. (1 mark)
(b) Use matrix multiplication to obtain the collections by the stadium managers from:

(i) Children only. (4 marks)

(i) Adults only. (4 marks)

(c) Hence obtain the total collections by the stadium managers from the mateh that day.
(2 marks)

A business man wants to stock two types of vehicles P and Q in his bond. The costof type:
P is Ugx 20million each and that of type Q is Upx 100 million each. Vehicles P requires
packing space of 20m* and Q requires packing space of 30m’. The number of vehicles of
type Q should not exceed that ol type P “The business man has atleast Ugx800 mitlion to
invest and available space of 600m? . [fx and y represent number of vehicles ot type P and
Q respectively.
() Write down five inequalities from the given information. (4 marks)
(b) Represent the five inequalities on the same axes. (6 marks)
(¢) Find the greatest number of vehicles of both types P and Q that the investor can buy

using the minimum amount ol money. (2 marks)

(2) Copy and complete the table below fory sin 2¢. (4 marks)

0 To i3 [0 [ o0 ¢ o [Tost Jua0n ase e Jos” e
NN U O O U N S S 0 5 |
[Sin20(0 o5 | | | L 10 L L ferml ]

(b) Use the completed table to draw the graph forty = Sin 20 for 13¥ <0 s 180Y,
2 marks)
(¢) Use your graph to solve the equation:
() Sin20=0.5

(i) Sin20=1 ( s)
(6 marks

Turn Over
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15, Two dice are tossed and the product of the numbers that appear .
recorded as in the table below:- PEArupper gy s
—  Diel
XL vl 23 a5
1| e
2 T 12
Die2 |5 | [ [ 7 1T 1
s T T T
I T s
s | [ W twl—
L | 1 171 |
() C.opy and comp!c.lc the table. ' (4 mart
(b)  Tind the probability that the productis a multiple of 5. arks)

. o , (4 marky
(¢) Find the probability that the product is ot rks)

angular number (
& : < markg)

16.  (a)
R
Q
In the diagram above. PQ is o tangent to the cirele with centre ()
and angle POQ = 30", Find the size of angle x and y.
(6 marks)
(b)

The diagram shows a circle with an arc which subte
centre of the circle of radius 14em.

Find the areas of:-

(i)  triangle OAB.

(if)  minor scetor OARB.

(iii) hence the area of the shaded segment.

nds an angle of 108° at the

(6 months)
is rotated through 90 about
flected along the line x +y = 0 to form

7. A triangle with coordinates P(-5,2), Q(-1.2) and R(-2, 6)
the origin to form P' Q' R. P' Q' R' is then re
P" QII R".
(@)  State the matrix for: (1) rotation,
(i1) Relection,
(2 marks)
(b)  Use your matrices above to determine the
(i) P'QR.
(li) I)ll Qll I{“.

coordinates of';

(6 marks)
() Find the matrix which maps PQR on 1o p* Q"R", &)
Hence describe the transtormation, (Himass
END

CHARISSHE Join Mock Eoxammations 2

4

CamScanner



